41
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41.1.1
95 % 5w 100
95
Malhotra 1 Naresh k. ( )
370
20
370 ( )
6 (4 2 )
8 10 480

7,11 1161181
12130 .. 1,45 .. 46 480
405 84.375



4.1.1.2

4.1
1. Accuracy
11
1.2

2. Responsiveness
21

22

2.3

3. Empathy
31

32

33

4, Tangibles
41

42

43

44

45

4.6

A7

48

49

41

3.67

3.95

3.4

3.42

3.63

3.65

3.56

3.58

3.64

3.44

3.36

3.73

3.41

3.54

3.85

3.85

3.28
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Function

4.2

4.2
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4.2 Transform Function

1. Accuracy
11

1.2

2. Responsiveness
21

22

23

3. Empathy

31

32

33

4. Tangibles

41

42

43

44

45

46 Y
AT

48

49

Mean
Variance of data

3.93
3.9

3.83

3.84

3.9353
0.0147

X
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1 2
Transform ~ Transform

Function  Function
5X BIX
11 1.28
1.05 1.27
111 1.29
1.22 1.32
1.28 1.34
1.07 1.27
1.1 1.28
1.17 1.31
1.06 1.27
0.98 1.24
1.16 1.30
0.81 1.19
0.88 121
1.16 1.30
1.04 1.26
0.95 1.23
0.96 1.24

1.0647 1.2717

0.0147 0.0015



1
Variance 1
W eight
LEmpathy Tangible) Weight
L. Function
2.
weighting (rating)
3 R1+R2+R3 = 100
Rl = Rating
R2 = Rating

R3 = Rating

(

68

eight
(Accuracy 1Responsiveness
Function
2
)



4.3 Weight

Rating
Rl R2 R3
20 30 50
30 40 30
20 50 30
40 30 30
40 30 30
30 60 10
30 30 40
30 50 20
30 30 40
30 38.89 31.11

0.3 0.3889  0.3111

Normalized 0.4355  0.5645
Weight W eight 3
Normalized 2 R1 1R2
R1 = Rating = 0.4335
R2 = Rating =0.5645
Rl 1R2? 3



1.1

1.2

2.1
2.2

2.3

4.4

1 Accuracy

2. Responsiveness

1.1
1.05

111

1.22

1.28

3.67

3.95

3.40

3.42

(¥)

RI*(5-X)
= 0.4355+(5-X)

0.4791

0.4573

0.4834

0.5313

0.5574

R2A(Y)
= 0.5645%(Y)

2.0717

2.2298

1.9193

1.9306

2.0491

(G-X*RY)
F(V*R)

2.5508

2.6871

2.4027

2.4619

2.6066

17

15



3.1
3.2

3.3

4.1

4.2

4.3

4.4

3. Empathy

4. Tangibles

1.07

1.1
1.17

1.06

1.16

0.81

3.65

3.44

3.36

(Y)

RI¥(5-X)
= 0.435*(5-X)

0.4660

0.4791

0.5095

0.4616
0.4268

0.5052

0.3528

RH(Y)
= (.56454(Y)

2.0604

2.0096

2.0209

2.0548
1.9419

1.8967

2.1056

((5-XJ*RY)
F(V*R)

2.5264

2.4887

2.5304

2.5164
2.3687

2.4019

2.4583

12

10



4.5

4.6

4.7

4.8

4.9

0.88

1.16
1.04
0.95

(5-X)

3.41

3.85
3.85

(v)

RIHE-X)
= 0.435*(5-X)

0.3832

0.5052
0.4529
0.4137

0.4181

RIA(Y)
= 0.5645%(Y)

1.9249

1.9983
2.1733
2.1733

1.8516

(G-X*RY)
F(V*RY)

2.3082

2.5035
2.6262
2.5871

2.2696

16
14
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4.5

4.6

-12

12

13



4.6
1. Accuracy
11
12

2. Responsiveness
21
22

2.3
3. Empathy
31
32

33
4. Tangibles
41
4.2
43
44
45
4.6
4.7
438
49

(>
X)RY)
+(Y4RY)

2.5508
26871

24027

24619
2.6066

2.5264

24887
2.5304

2.5164
2.3667
24019
24583
2.3082
2.5035
2.6262

2.5871

2.2696

13
17

15

il
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4.6

(4.5)

(4.3)
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